
3GPP TSG-SA WG6 Meeting #53
S6-230560
Athens, Greece, 27th February – 3rd March 2023
Source:
vivo
Title:
Service Switch internal PIN
Spec:
3GPP TS 23.542 v0.1.0
Agenda item:
8.19
Document for:
Approval
Contact:
Huazhang Lv, huazhang.lv@vivo.com 
1. Introduction
This paper introduces the service switch that internal PIN. 
2. Reason for Change
As the conclusion in TR 23.700-78, the service switch accomplished internal PIN is supported.

-
The PINE joins into a PIN and discovers the candidate PINE internal PIN to do the service switch. The candidates PINE should deploy the same application client or can maintains the service towards AS and the service corresponds to the same service type.
-
After the traffic terminated at the PINE, the PINE offloads the traffic to candidate PINE directly or via PEGC if direct communication is not viable. 

3. Conclusions

N/A
4. Proposal

It is proposed to agree the following changes to 3GPP TS 23.542 V0.1.0
* * * Start of Change 1 * * *
8.7.2.2
Service switch in a PIN without PIN server support
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Figure 8.7.2.2-1: PIN Service Switch internal PIN
In Figure 8.7.2.2-1, it describes the service switch scenario supported internal PIN. 

The PINE A has the application communication with application server. And when the PINE A decides to select other alternative PINE B to apply the traffic flow, the PINE A firstly should discover a PIN and join in. And then, in the PIN, there should exist the PINE that can be hosted with the same service type as PINE A, for example, the video flow, music flow or game flow. 

The PINE A can send the request to PEMC to determine the PINE B to host the application traffic. After the determination, the PEMC sends the endpoint information to PINE A and the PINE A can offload the traffic either directly to PINE B or via PEGC. 

Pre-conditions:

1.
The UE Identifier or PIN client Identifier of PINE A or PINE B is available;

2.
The PIN client in PINE A or PINE B has been authorized to communicate with the PEMC;
3.
The PIN client in PINE B can provide the same PIN service as PINE A’s traffic flow.
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Figure 8.7.2.2-2: Service switch procedure internal PIN
0.
The PINE A has application layer communication with application server. And the PINE A decides to do the service switch to other PINEs. And the PINE A has already been in a PIN. 
1.
The PINE A trigger the PIN service discovery request towards PEMC. This request carries the list of services the PINE A wants to consume.

2.
Upon receiving the request, the PEMC performs an authorization check to verify whether the PINE A has authorization to perform the operation. 
3.
The PEMC provides the list of PINE endpoint(s), application client endpoint(s) information that are offering the requested services to PINE A in PIN service discovery response. The PIN service can be represented by service type that PINE provides or the application client on PINE. If the request fails, the PEMC should give the failure response to indicates the cause of request failure. 
4.
The PINE A determines the PINE B for service switch as follow: 
Option A: The PINE A maintains the service towards AS and the service corresponds to a service type, for example, music or streaming media. The PINE A determines the potential PINE B for service switch according to whether this PINE has the capability to carry the service.

Option B: The PINE A maintains the service towards AS by application client which represented by Application Client ID. The PINE A determines the potential PINE B for service switch according to whether this PINE has deployed the same application client as PINE A. 
5.
(Use PINE B as example) The PINE switches the service traffic to PINE B: The PINE A switches the traffic flow directly to PINE B via direct communication or via PEGC. 
6.
The PINE A relocates the application context from application client in PINE A to application client in PINE B which is out of scope of specification.  
* * * End of Change * * *
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